8 7 6 5 4 3 2 | 1

REVISIONS
NOTES: CH I ‘oCCRITION 3 APRONL
1. IMPACT RESISTANT GLAZING OPTION— IMPACT 13 GA HORIZ ANGLE E € DOOR 35708 I T
RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN TOP \ o R T 7775
OR INTERMEDIATE SECTION (WITH OR WITHOUT . SHEET \ [57652] 0 Jupoare notes Ao L oepw 13/10 | _Esc
DECORATIVE INSERTS). GLAZING SHALL BE 1/4" 13 GA FLAG ANGLE . | [T T oooen wejic vores For 1o ﬁ s T
POLYCARBONATE. MAXIMUM GLAZING DIMENSIONS SHALL \ 20 GA CENTER STILE .
BE 11" x 17" CUTOUT, FASTENED WITH #8 X 1” SMS: 3X A
ALONG THE, HORIZONTAL AND. 2% ALONG THE VERTIGAL 15 GA MIN HORIZ 16 GA END STILE FET
SEE DETAIL J ON SHEET 2 FOR ASSEMBLY DETALS. ™~
TRACK / =
2. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF 5/16x1-5/8" — " .
8" 0.C. MUST OVERLAP TOP AND BOTH ENDS OF LAG SCREW (WMt 3 q x | kd .
PANELS MINIMUM 7/16" TO MEET NEGATIVE PRESSURES. NS SHO K L o 0] )
3. KEY LOCK OR SLIDE LOCKS REQUIRED. (4) 1/4—20xa /16" — A , o % o 1
LARGE HEAD TRACK Lo . L ° g
4. SECTION STEEL TO HAVE A MINIMUM 25 GA BOLTS OR 1/4-20 ° . ° a
THICKNESS. STUDS WITH 1/4—20 i ° B .
5. THE DESIGN OF THE SUPPORTING STRUCTURAL HEX "UTS_/ ) o] . 0
ELEMENTS SHALL BE THE RESPONSIBILITY OF THE 15 GA MIN_VERT X
PROESSIONAL OF RECORD FOR THE BULDING OR TRACK
STRUCTURE AND IN ACCORDANCE WI 1/4-20:0/16" R ack—" | [ === .
BULDNG GODES FOR THE LOADS LISTED. ON THIS . F .
DRAWING BOLT AND 1/4—20 HEX ! c o
g NUT AT EACH B-US ] o | Nemeer ’_I
8. DOOR JAMB TO BE MINIMUM 2x8, STRUCTURAL GRADE JAMB BRACKET LOCATION ° o x HEET °
SOUTHERN PINE. REFER TO JAMB CONNECTION o o] | ° ™ A =
PPLEMENT FOR ATTACHMENT TO SUPPORTING " o 3 ol '
5/16x1-5/8" LAG _— - W ° .
SRUCTURE, 'SCREW AT EACH = ° .
7. FOR LOW HEAD ROOM LIFT CONDITIONS, TOP BRAGKET JAMB BRACKET » 5 . s C
SHALL BE A 13 GA LHR 7/4 TOP BRACKET WITH A ) N
MINIMUM OF (3) 1/4—14x7/8" SELF DRILLING CRIMPTITE 1 . 3
SCREWS IN LIEU OF THE BRACKET SHOWN ON THIS G |
DRAWING. U-BAR ON TOP SECTION SHALL BE INSTALLED _/ \ ? Lo At
ON TOP OF LHR TOP BRACKETS. 15 GA STIFFENED ! - 9] d :
JAMB BRACKETS ! o x ° o
SEE SCHELDULE FOR 0 At ° H
QUANITY, LOCATION, ° d °
AND TYPE .
o) Lt 0
KEY LOCK OR SLIDE LOCK J ° . 0
EACH END (SEE NOTE 4). "
SUDE LOCK SHOWN FOR "
CLARITY - o
o]
D " EET
hd ° d
° 0 H \
{ ol D - o) o
1 EET ]
NOTE:  (4) SECTION SOLID 3
DOOR' SHOWN. - SEE SHEET \ S
2 FOR U-BAR LOCATIONS J
ON DOORS WITH OTHER ] \
SUPERIMPOSED DESIGN PRESSURE TN ERIANTITIES AND. NoE. , ‘F%R"szs“gﬂ o~
LOADS ON SUPPORTING STRUCTURE SHEET FOR GLAZING . POST LOCATIONS ON OTHER SIZE
MAX | MAX | UNIFORM _ [POINT LOAD AT HEADER AN OPTIONS. - DOORS.
DOOR [ DOOR | LOAD EACH SLAB AT EACH POST
WIDTH | HEIGHT | JAMB (PLF) LOCATION (LBS)
1707 |_=0"_|F1855/-2098]  +1507.4/~1712.9
§-0"_[+1855/-209.6] __ +1704.0/-1936.3
07| _Z=0"_[*180.7/=215.7] +1637.0/-18505
80" [+190.7/-215.7] __+1860.3/-2102.9
JAMB BRACKET SCHEDULE
TNO. OF JAMB LOCATION OF CENTERLINE OF JAMB
HDEIO&RT sgghgﬁs BRACKETS BRACKETS MEASURED FROM BOTTOM
(EACH JAMB) OF TRACK (ALL DIMENSIONS * 2°)
6'—6" 4 7 ), 29-3/
7-0"] 4 7 E
7= 9
=0 9 B

NOTE:
(JB-US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x9/16" TRACK BOLT AND NUT AS SHOWN ABOVE.

STATIC PRESSURE RATINGS APPROVED SIZES
DESIGN PRESSURE(PSF): +46.0/~52.0 | Mo WIDTH: i
SERIES 170-177, 180-187, 1400, 1440, 1500, 1540 8.0/ HEGHT: ®
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 21|
COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018. THE DRAWINGS AND ALL OTHER INFORMATION OONTAINED HEREIN ARE THE CONFIDENTIAL AND FMEI'ARY PROPERTY OF WERI'EAD DOOR CORPORATION AND TS AFFILIATED OOMFANES THIS MNG
NIDII-'DRMATDNINWHOLEORINPART \Y NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. DISCLOSURE OF
IS DRAWING d oN(sN'ranm‘roopmrEASAucnsEonunmnmmuTol&nmnwmmmwmsmwmmmwwmmwﬂm
—10/15/10 ™ SERES 170, 180WL
o KiNoon ARTHUR gl_vp m24-s4 Digitally signed by John E. Scates, P.E. To/z5/0 WS9, 18" MAX WIDE
LEWMSVI ' [~ A2
ROFESSONAL ENGNEER'S SEAL FROVDED Oy For | FL PE S1957 Date: 2021.04.13 11:29:29 -05'00 %= D—411054
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. TX PE 56308/F2203 R owe | 4/12/21 e WIS, [s= 1o 2]
8 | 7 6 5 1




8 | 7 6 5 4 3 2 1

[> notes
13 GA ROLLER SLIDE ATTACHED TO
BRACKET WITH 5/16—18 BOLT & NUT
IN CENTER SLOT AND 1/4—20x9/16"
TRACK BOLT & 1/4—20 HEX NUT
THROUGH ANY TWO ALIGNING HOLES: | | U-BAR LOCATIONS
(2) 13 GA COMMERCIAL ‘A’ T T ng| (5) SECTION DOORS W
FRAME TOP BRACKETS EACH "’ (7) 3° 20 GA 80 KSI U-BARS
ATTACHED WITH (4) 1/4—14x7/8" LOCATED AS SHOWN
SELF DRILLING CRIMPTITE SCREWS s s
4] o o8
ADD (2) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS DETAIL A |
(INSIDE OF EACH INSIDE END |
HINGE) (4) SECTION DOORS WITH
(5) 3° 20 GA 80 KSI U-BARS
Y t U LOCATED AS SHOWN
2" STEEL ROLLER WITH
9" GRADE 1144 OR
EQUIVALENT STEM d A
(2) 14 GA WIDE_BODY END AN
HINGES EACH A1TA(/}IED HEADER / ..
WITH (4) 1/4-14x5/8"
SELF TAPPING SCREWS HEADER LOCK TOP LOCK ATTACH U-BAR WITH
BRACKET PLATE (2) 1/4—14x7/8" SELF
1+ 0 ot s S SRR
INTERMEDIATE HINGE NO. 2 ga'f :'Ng'__E T
oD ) \ Y -
TAPPING SCREWS .
; (4) 1/4-14x7/8"
(4) 5/16x1-5/8" SELF ‘DRILLING lggkngc
12 GA EXTENSION BRACKET DETAL C LAG SCREWS CRIMPTITE
ATTACHED WITH (3) 1/4—14x7/8" . . SCRI
SELF DRILLING CRIMPTITE SCREWS 5/16—18x2-1/2 4) 5/16-12x1"
(2 THROUGH STRUT AND BRACKI HEX BOLT & NUT SELF DRILLING HITCH PIN
14 GA BOTTOM BRACKET DETAL E INNER ‘SZE{FS/D‘.%Q‘.SE"
A}TAGHED/WITH (2) POST SCREWS W/ 5/18 p 12
1/4-14x7/8" SELF DRILLING 1/2-13x3-1/2"
S Ao o il
M _BRA 4) 1/4-14x5/8" BOTTOM BRACKET .
AND (1) 1/4—14x5/8" SELF 14 GA CENTER HINGE gE)LF/TAPPING/
DRILLING RED SCREW SCREWS
P HITCH PIN (4) 5/16—12x1" SELF 1/2-13 HEX NUT
. DRILLING SCREWS DETAL G
4) 1/4—14x7/8" ..
B M O i Lockine T T~
: CRMPTITE SCREWS s INTERIOR FRAME
. ADDED TO EACH
HINGE WITH A POST -
AP / SHEETMETAL SCREW
8" X 8 MN - i
TURNDOWN SLAB (2) 5/16-12x1" SELF ’ , :
AT EDGE: DRILLING SCREWS EACH
WTH (1) 5/16 FLAT - (
WASHER
DETAL F POST ! )
EXTERIOR =
T~ 3 oA ADwSTABLE | —4 /
~ 13 GA Al
‘_‘\\ \\\\ g TOP FIXTURE * :
-2 p."E.QF. TExN . . .
AP g \. PLACE 3" U-BAR OVER LOW AN N
. B ) HEADROOM BRACKET ATTACH THRU 1/4" POLYCARBONATE
. END STILE AND CENTER STILE AT L1~
EACH END WITH (4) 1/4—14x7/8" 1~
SELF DRILLING CRIMPTITE SCREWS.
o oo W
JOHN E Sc ATE DETAL I DETAIL J STATIC PRESSURE RATINGS APPROVED SIZES
. DESIGN PRESSURE(PSF): +46.0/-52.0 MAX WDTH: 18
56308 MAX HEIGHT: &
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 217
QO .- THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORFORATION AND ITS AFFILIATED COMPANES. THIS DRAWNG
'CENSE PN~ AND INFORMATION, IN WHOLE OR IN_PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF
NS N ANY OF THIS DRAWING OR INFORMATION S INTENDED TO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITIEN CONSENT OF OVERHEAD DOOR CORPORATION.
/ONAL B0 ; o R S— —
T A SERIES 170, 180WL
AS G JOHN E. SCATES, PE . 1TAanor | 10/15/10 .
2560 KING ARTHUR BLVD #124—54 o WS9, 18" MAX WIDE
LEWISVILLE, TX 75056 M. SAWICKI 10/25/10 fee————————————]
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR FL PE 51737 WRROD BY: max D—411054
VERFICATION OF WINDLOAD CONSTRUCTION DETALLS. TX PE 56308/F2203 [ Rer owe__| T. CLARK 4/12/21 o= "3, [ Do

K

8 | 7 6 5



		2021-04-13T11:28:59-0500
	John E. Scates, P.E.


		2021-04-13T11:29:16-0500
	John E. Scates, P.E.


		2021-04-13T11:29:29-0500
	John E. Scates, P.E.




